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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-1T Examination, 2019

PHiLosorPHY
" PAPER: PHIA-IV

Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. 2feE FaT wgE wo ’fﬁﬂ’i’ fag T
Candidates should answer in their own words TR [COTT I I TG ST T
and adhere to the word limit as practicable. Ge7 P!

All symbols are of usual significance.

Answer Question No. 1 and six more questions taking fwo from
each Group A, B and C

> T @3 o %, 4 @1k ot oA it SR ey Wi 2 @vre Sea we
L. Answer any five questions from the following: 2x5=10
e @-FIeT <ol avsa Tea mes
(a} Symbolise the following:
LISIFIRS Tl
(i} p is the necessary and sufficient condition of q.
p g4 ~iefiel wiiRe =
{iiy pifg
pig
(b} If p>~q=F, then determine the truth value of p=gq
'p o~ q=F, WOE p = q-93 Tey5en Weffad e
{c} What is meant by argument form? Give an example.
e el e F QIR 2 93 Sz ws )

{d) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram: )

Terare A iors e e et 3R (eabras T e Tt
If a nation is free, then it is prosperous.
Tl @ (7 I 27, O ol Baens =@
(e) State the rule of Universal Generalization.
HiEE AGIEae it SrEd I
(f) What is Indirect Proof? Explain with example.
SR 2 IS PICE 0 9 GriRgeT2 T TRt
{g) Give the form of Method of Residue.
AR *iled ST Grls |
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th) Explain Addition Theorem of Calculating Probability.
FIETS] SRR CIE Ha b i El

GROUP-A
. R
2. {a) What do you mean by paradox of material implication?
e effonifen seie-ReaEe! 4@ F @l e
{b) Can we get a tautological proposition by denying a tautological proposition?
G T3] AT (e a0t [ wor7e] 9] e 11 ¢

{¢) Determine whether the following statement forms are tautologous, self-
contradictory or contingent by means of truth table.

S AR FRIC 53 AR R Fo ey, Tos iyl 7 witifes ©f ffm s
B pogorf=[~qo~p)>r1]
(i) p={pv(pv~4)}
(d) Use truth table to determine the validity or invalidity of the following argument:
TeEERE AR RS giEha et A siage g @t

She can have many friends only if she respects them as individuals. If she
respects them as individuals, then she cannot expect them all to behave alike. She

does not have many friends. Therefore, she does not expect them.all to behave
alike.

Ol S 99 I GG IR (T SieeE e et wain v | 3l o wives e e
FHAW R IR (5! Sl FAE Al (7 TR G LI oA TN O I g (R
oAk, (7 5! S P = (4 IR GFIFH HHA FAA!

3. (a) Construct formal proof of validity of the following arguments (Do not use C.P or
LP)

falRe sk aeRee (et @i wis (C.P 91 LP 4d < [ )

i) HvW)DB-M), MoOP,~P/.~H

a)y G/-Hv~H :

(iii) If the first disjunct of a disjunction is true, then disjunction as a whole is

true. Therefore if both the first and second disjunct of the disjunction are
true, then the disjunction as a whole is true.

=T taalee o0 oiuy Res ok vy o, o e (ol a0 79 o
A (Tl 50 e ¢ 787 R wey 28 ord el tao(Ere Bl 7y !

(b) Prove the invalidity of the following arguments by the method of assigning truth

values:
T Sl Aw s R e Fieelm siarst e sl
i@ BoW)-(G>~9) (i) Ko@-M{LoNyv~K
(~B-~Q@)>(C-P) O(Pv~N)
o i s PapQyen
B Rv~P)v~M
LCo~G SJKoR
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: , 4. (a) What is counter example? Explain with example.
THITATR 04 KB I

(b} Use truth tree method to determine whether the following proposition is
consistent:

O WW%WW:@%@WWz

A—=CB—-C -A~A—>-C

(¢) Determine whether the following statement is tautologous or not by using truth
tree method:

IR PSB! eve I FoeoTe) Rol crives
P=>9=>lq>> @)
(d} Use truth tree method to test the validity of the following:
erRl eated Wil e e e R s
Moriarty will escape unless Holmes acts. We shall rely on Watson only if Holmes

does not act. Therefore, if Holmes does not act, Moriarty will escape unless we
rely on Watson.

e «feca vera T 7 calew 1w | S enieR S e e e, e
A R PIE 1 TR IR @ I N, O T oS vewa 3% At wiww
salbe Beig Tee 3 ’

5. (a) Explain the method of Conditional Proof with an example.
@36 ST ALY AP @Niel T i e
(b) Use the methed of Indirect Proof to prove the validity of the following argument:
A IR ol v R TR 3fefa weet e s
M-N)>O
M
MoSN
bl
{c) Prove the validity of the following argument by the methed of Conditional Proof:
Al 2 “rfen MRy FefiRe e el e ares
Ao(Bo0O)
B>
LAD(BDOD)

{d) Use the method of Indirect Proof to prove that the following statement is
taviologous.

SR e *iw (o7 ALY A9 w0t (7 RakiRe 2R geswe a
(ADB)V{(~ADO)
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6.

7

GROUP-B
-4

Test the validity of the following arguments by Venn diagram indicating the
mood and figure of each of them:

2/ I ¢ wvEm T T e gfeetm confbras e el Rva @t
(a) All men are liable to error; saints being men are liable to error.
¥ A0 aifer HERA! Sl ; ARl NI 2681 witvas SiiwE WEiAl Sig!
{b) All bridge players are people. All people think. So all bridge plavers think.
5] & CATETIEIGE A | R e Peiie | Hoak W1 e (e hee

{c) This syllogism is valid, for all invalid syllogisms commit an illicit process but this
argument commits no illicit process.
G2, VG C3Y, Fel T SRy FIE Sy &l €, [ @2 itre N wiy efe
hrs

(a) What is meant by ‘Existential Import’ of propositions supposing that I and O
propositions have existential import, how much of the Traditional Square of
apposition will remain?

Wi RS Slerd T & @RI 2 ST [ 9 O BEE FEGFES Siewid St
Tieia S0 Ao R SRmicR Fops SRME AR ?

(b) Give Boolean interpretation of the following sentences and represent them in

Venn diagram:
TR el i e eer s ooy e T
(i) Everything is beautiful
RIERI
(ii} Some kind men are not wise
I 1 vee] e < e
(iii) Some non-S are P.
FEHEEYE-SAP !

8. (2) Explain with example the principle of Existential Generalisation.

TG TG R0 5 Gigelig G
(b} Construct formal proof of validity of the following:
et Jralm iwes (9ol 4= T
) () (Gx>Ex)
(X} {Wx =~ 8x)
{3x) (Wx -~ Ex)
S(3x) (~Gx-~8x)
(i) ®{Ax>(Bx-Cx)]
X {Cxo>Dx)
. (x) [(Ax v Cx) > Dx] ' —

(iii) Bananas and Grapes are fruits, Fruits are nourishing. Therefore, bananas are
nourishing.

o1 % SGT T T | 1 = A | oK e = A
4
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; . 9. (a) Symbolise the following sentences by using quantifiers, variables etc: 2x3 =6
frrmeizie ARl T, Yo Tt Mgy eeiEe wms
(i} Diana was not happy
wEE 9 B
(if) Only lawyers and politicians are members
(TR BT @ GO 27 )
(iii} There are metallic ornaments.
igfiiile 72wl vz |
(b) Determine the invalidity of the following arguments by the method of truth value ~ 3x3 =90
assignment:
e wicice wEl Foie gerer age! enid 3@t
(i) No diplomats are extremists. Some fanatics are extremists. Therefore some
diplomats are fanatics.
@I FhifeE W el &N W oiE e @ saeEl Wedw, G &@F
Fhaioe 7 i)
(i) () [(FxvS8x)o(CxvRx)]
(x){Dx o (Sx v Rx}}
(x) (Fx =Cx)
(Exy Dix
SA{F(8x-Rx)
(iif) (x) (Lx o>~ Px)
(3x) (Px-Ox)
S (Oxo~Lx)
GROUP-C
fRept-at
10.  Critically discuss Mill’s Method of Agreement and Difference. 15
e TR~ iewEs als Sesal ¢ [oig sl
11.  What is hypothesis? What are the criteria used in judging the worth of a 5+10
hypothesis?
2351 § 2 I CFIR NI efFTsr Bexnrda Risk 2 Snizseie i S
12.  Write short notes on the following: 8+7
e Raneim Ui wiEee B e
(i) Necessary and sufficient condition of an event.
B wiefrE e wfig oy
(1} MilP’s Method of Concomitant Variation.
foitera vizsiiaed om s e L
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13. Calculate the probability of the following cases:
RS crae R e T

{a) If three balls are selected at random from an urn containing 5 red, 10 white and
15 blue balls, what is the probability that they will all be of the same colour —

(1) if'each ball is replaced before the next ball is drawn,
(i) if the balis selected are not replaced? _
4T <iitg ¢f5 =19, sof 3l @3 3¢ b e <57 wicw) Nef i o 2= v

. T2 o2 = =im Tl Fe A

- (1) COIT < (e (el 2,
(ify T coiET 3@ (e e AW = 7

(b) What is the probability of getting at least one even number in rolling three dice

onice?
oo syeis §ore @3ar i et wiws <o fhrs (@G R4t S5 STiyel 7 ¢

(¢) What is the probability of not-getting a king in three successive draws of cards
from a deck of cards?

aﬁm%mWwWWqummmWw?
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